FoE£ESERE LA ILEEX AR

= 254 FE FHiEEYL ZEBUE E
E+F100m ER)E=E 3L &R 11.18 0
E2+100m HEESH 3NE 2Eg 11.31 0.4
EF100m Pl =SE 1| B4 #E=F 12.72 2 |BafeE X 2
E+200m
E5200m
EF400m = E 1828 54.28
E5F400m Bl EE 3|85 &=L 57.27
B 5¥800m B)ISE K] i S 2.14.12
EF800m
E-+1500m B S 3N K& 5.19.10
E51500m JB)ISE e KE 5.24.60
E-+5000m
E+5000m
E+110mH HESEH 3L &E5R 15.44 -0.5
EF110mH HESH 114 K AR & 17.02| +0.6

BF4x100mR KEE S EH 47.67
BEF4x400mR
BEFESB HESEH A1 E A 1.85
BEFESB ER)EEASE] 1124 R AR5k 1.8
BFEMRBK HESH 3O ZEE 6.87| +1.7
EFERB e E blaH  BE} 5.56| +5.7
B FEREBk ER)EEASEd 2| B 5.29( +0.1|F{EH X 2




SF=EBk JmsHE S5|aH# Bt 11.88| -0.4

SF =ik HESE 2|1#E B 11.38| +2.4

5 FHa(7.26k) —ARFRAR

8B F Rt & (6k) BIIEE 3= HE 9m47 = BRI

5 F % (2.000kg) — AR

5FM#E&(1.75k) SRR

BT U B

B70Y B

ZF100m

2ZF100m

277800m a0VREE| 3|&E KIE | 2.52.67

2ZF800m

ZFEEBE

2| 1|tHEi#Z 5.03| -0.1
=

T EEBE 3|EA 4.78] +0.9

L F AR (4.00kg)

L F L% (4.00kg)




